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W (a,b) =1 SRENOUT{FAVSI090 ¥BRANMS v—w=0(moda) *
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n>ab-a-b &% WHMIE MEGHULNGESHADSHIRMS

323 tmprujpuigéiguimaninghog geaieh imuwuy
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n= 1(m0d7)
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n=21n-20n= 3(35n—28n)—20n
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335.ignnh i innsmn
iRnARiS . muithas [x]
geMninN [3.78] =39 10U x—1<[x]<x T [x]<x<[x]+14
RIS REmM {x} =x-[x] MunwigReama
'@,igg x:[x]+{x},0£{x}<1
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W 0<[nf]<nb<n @tggost%

a)_ M}

- [k

M) e a-1<[a]<a,f-1<[B]<p WAAENDS
a+pf-2<[a]+[f]<a+p
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1 (¢)=3[2t]-2[3]
f(t+1)=3[20+2]-2[3t+3] =3[21]+6—(2[3t]+6) = /()
iR ETESA0NS I /(1) SEnanItn 1e[0,1)
R |
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1€[0,1/3) 81 [21]=[37]=0 HiG& f(1)=0
t§ te[1/3,1/2) we[26]=0;[3] =1 B f(r)=-2
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